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ASSESSMENT 3 

PART 1 COMPREHENSION (20 marks) 

 

There are two passages in this Part. Read each passage carefully and then 
circle the letter of the best answer to Questions 1 – 10  
 
Passage 1 

 

Plastic Ocean 

 

Plastic is a poisonous material that is harming sea creatures and their homes and finally, 
humans. We only see it when it floats. But it can sink or float depending on the environmental 
conditions of the ocean. It can rise in rough seas and sink during the calms. Sunlight cannot 
pass through the water,  

1. but breaks it down into continuously smaller particles until it reaches molecular size.  

 

Some of the plastic debris has taken a fifty-year voyage in violent seas since it   
was first produced. And it doesn’t appear to be breaking down into something that is even 
close to the natural materials of the earth they once came from.  

10 There are estimates of how long this will take, but it clearly takes more than fifty 
years.  

 
 

According to a study published in 1992, plastic layers were one of the most common 
types of debris found in United States harbours of the Atlantic, Pacific, and near 
Mexico. In the same year, nearly sixty billion pounds of  

15 plastic were made annually in the United States and are shipped in train, truck, and 
ship.  

 
Considering how big the problem is, it is most probably somewhere along the supply 
chain of the plastics industry.  

 

Adapted from: http://www.projectgreenbag.com
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QUESTIONS 

 

1. Which of the following statements is true according to the passage?  

 

Plastic is a  

 

A. floating material and is helpful.   
B. useful material for building boats.   
C. source of food for living things in the sea.   
D. dangerous material for marine creatures and humans.  

 
 

 

2. ‘…during the calms’ (line 4)  means when  

 
A. all is done.   
B. all is quiet.   
C. the weather is not rough.   
D. there are strong winds blowing.  

 
 
 
3. The word that is closest in meaning to debris as used in the passage is  

 

A. waste.                                         B. nutrients.   
            C.       fertilisers.                                    D. molecules.  
 

 

4. Mexico is mentioned in the passage because it  

 

A. is a famous place.                       B.     had plastic debris.   
            C.        was discovered in 1992.             D.     had ships anchored there.  
 
 

5. The problem about plastic  

 

A. maybe from the supply chains.   
B. is not from the supply chains in the Atlantic.   
C. is definitely from the United States of America.   
D. cannot be from the supply chains of the Atlantic.  

 

 

Passage 2 

 

Galileo and his telescope 
 

Galileo Galilei was born in the year 1564 in Pisa, Italy. At 20 years of age, his father 

wanted him to be a doctor, but Galileo was more interested in Maths so he was helped by a 

tutor to become a mathematician.  
Finally, his father agreed. 
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Galileo needed money so he began experimenting with a compass that could be used to 
measure plots of land having already experimented with  

 
pendulums, then thermometers and finally magnets. A Dutch inventor invented a 
spyglass in secret so Galileo decided to work on one of his  
own which was a telescope that could magnify things to make them appear  

1. ten times larger than real life.  

 

One night, he pointed his telescope toward the sky, and made his first of many space 

observations: the moon was not smooth, like everyone thought but was covered with bumps 

and craters. As technology has improved, first Galileo, and then many others, have made 

improvements on the telescope, the wonderful device that allows us to see from a distance.  

 

Adapted from: http://wwwk12reader.com 
 
 
6. In what year did Galileo’s father want him to be a doctor?  

 

A. 1564                                            B.  1584   
            C.        1604                                            D.  1624  
 

 

7. Galileo first experimented with the  

 

A. compass.                                        B.  magnets.   
            C.        pendulums.                                     D.  thermometers. 

 

 

8. The telescope was invented by Galileo  

 

A. when he was 20 years old.   
B. because the magnet was invented.   
C. after a Dutch invented a spyglass.   
D. as he was not happy with the pendulum discovery.  

 

 

9. The moon’s view from the telescope was that it was  

 

A. flat.   
B. smooth.   
C. rough with patches.  

D. rough with craters.  
 

 

10. The synonym of the word ‘improved’ (line 13) is  

 

A. enhanced.  

B. worsened.   
C. decolonized.   
D. decomposed.  
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MATHEMATICS                                                                                                                                                

Year7 

 

1. What is a 11-sided polygon called?                                                                                                                                     

A. elevenagon                       B. Henagon                 C. Hendecagon                D. Dodecagon  

2. 926 x 10.5 =                                                                                                                                                                                      

A. 9723                                 B. 00000926               C. 9260000                       D. 92600000  

3. Raju bought 2 pairs of bullocks. If one bullock costs him $300, what was the price he paid 

for 2 pairs of bullocks?                                                                                                                            

A.  $300                                B.  $600                      C.  $1200                         D.  $900 

4. 81.72 ÷ 9 =                                                                                                                                                                            

A. 9.09                                  B. 9.08                        C. 9.07                              D. 9.06  

5. A square pyramid has ________________ vertices.                                                                                                   

A. 6                                       B. 5                             C.8                                    D.4  

6. The average of three numbers is 94. What would be the average of the four numbers if the 

fourth number is 98?                                                                                                                                                                                 

A. 95                                     B. 96                           C. 282                               D. 380                    

7. Eight hundred and seventy-seven thousand six hundred and ninety-five written in numerals 

is                                                                                                                                                           

A. 8775965                           B. 877659                   C. 877695                         D. 80077695  

8. What is another name of mean score?                                                                                                                              

A. mode                                B. range                      C. median                         D. average  

9.  Jake bought 5 kg of onions for $6.50. What would be the cost for 2 kg of onions?                                

A. $1.50                               B.  $1.30                      C.  $2.60                          D.  $5.60 

10. A car travelled 555 km in  
 

 
 hours. Calculate the average speed                                                                                   

A 2081.25 km/h                   B. 148 km/h                C. 164 km/h                      D. 416.25 km/h 

 

                                                                                                                                     

Marks: 20 
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SOCIAL STUDIES 

                                     WEEKLY  HOMESTUDY PACKAGE 21- ASSESSMENT 

TRUE OR FALSE (10 marks) 

 

 

2. Culture includes all the customs of a group of people.  

 

3. The capital of Papua New Guinea is Rarotonga.  

 

4. The Samoan word for please is Fa’amolemole.  

 

5. The total population of Australia is about 12.6 million.  

 

6. Rise of sea level can be caused by the increased melting of the land 
based ice or glaciers.  

 

7. The Austronesian meaning of the word Viti is west or sunset.  

 

8. The Indentured Labourers are those that came to work in the 
sugarcane plantations  

 

9. Children have the right to live in a safe home where they are protected.  

 

10. Climate Change will reduce the quality and quantity of our marine 
resources.  

 

11. The Solomon Islands currency is known as Vatu.  
 
 
 
 
 
 MATCHING                                                                  (10 marks) 

 
Match the definitions in Column 1 with the correct terms in Column 2 
 

  Column 1  Column 2 

1.  harmful material to the marine A. respect 

  environment   

2.  one of the values taught in B. migration 

  schools and  homes   
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3.  ideas and attitudes we have about C Micronesia 

  a group of people   

4.  movement of people from one country D. Australia 

  to another   

5. a multicultural, developed country E. Tonga 

6. Jacob Roggeveen first sighted these islands F. stereotypes 

7. user of resources G. native 

8. an important export industry in Fiji H. Samoa 

9. Loyalty Islands, Vanuatu and Fiji I. gold 

10. indigenous J. sewage 

   K. consumer 
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ASSESSMENT 3 



  

  

 



 

  

  



 

  

 

 

 

  

  

   



   


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 



  

( )

 (  ) 



 









    
    
    
    
    



 

 

 

 

 

 

 

 

 


 

 



12 
 

 


